N = 0l & At & M A

FoHs22= PN 230l A
=stols Y
=X 283t (&)
= _ — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
M s2Z = 285,780,481 281,508,775 4,271,706
= 66,741,571
s 66,763,200
J| 36,976,800
< 115,298,910
E o0l = At 0t 79,560,472 73,788,601 5,771,871
= 19,289,478
s 17,038,000
J| 5,865,366
< 37,367,628
s FY 49,288,888 44,057,544 5,231,344
= 2,977,074
s 17,038,000
J| 4,321,440
< 24,952,374
F=Xd 2483t 14,280,626 6,691,972 7,588,654
= 429,806
s 9,553,000
< 4,297,820
S8 A72AMY K& 152,100 159,369 AT,269
308 X XIEHH SOl A 152,100 159,369 AT,269
N 3IN2SUHUS3 LS A I 152,100 159,369 AT,269
OE=s RAY 152,100
M=Y BHRHE ZHAIS 4,560,000 1,080,000 3,480,000
s 3,800,000
< 760,000
403 XIS E X201 H 4,560,000 1,080,000 3,480,000
s 3,800,000
< 760,000
01 X EHHMA=LE L 4,560,000 1,080,000 3,480,000
OA=Y EHneHE ZHAY 4,560,000
as 3,800,000
< 760,000
2otite 2325 222 ZEAY 120,000 630,000 A 510,000
s 100,000
< 20,000
403 UHXSHHSA=0l& 120,000 630,000 A 510,000
s 100,000
< 20,000
01 X SHMA=2E X 120,000 630,000 A510,000
O2stat 23723 2232 ZHAY 120,000
s 100,000
< 20,000
oAt SelPE 223 ZEAY 912,000 360,000 552,000
s 760,000
< 152,000




A= 2o Ms2E= PN 230l A
M 2oz 2L
& 2o=X2 243 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 912,000 360,000 552,000
s 760,000
< 152,000
01 X SHMA2E X 912,000 360,000 552,000
O2stat £el23 222 ZdAY 912,000
s 760,000
< 152,000
S BIEXZ0ES ZHEAMY 1,200,000 480,000 720,000
as 1,000,000
< 200,000
403 MtXISHHE X201 & 1,200,000 480,000 720,000
i 1,000,000
< 200,000
01 X SHHA2E = 1,200,000 480,000 720,000
O 2sEXZ0IE =4 A 1,200,000
s 1,000,000
< 200,000
AALH L ZHAY 1,128,000 0 1,128,000
s 940,000
< 188,000
403 A X EHHS =0l A 1,128,000 0 1,128,000
s 940,000
< 188,000
01 X SHHMA=2LE L 1,128,000 0 1,128,000
Ol MAHd ZAAY 1,128,000
s 940,000
< 188,000
Y= HHIZSHE S ZEAY 600,000 0 600,000
s 500,000
< 100,000
403 X SHHSA=0l& 600,000 0 600,000
s 500,000
< 100,000
01 X SHMA=2E X 600,000 0 600,000
Ostys HHIZaME SN ZEAHY 600,000
s 500,000
< 100,000
T8 MO ZEAY 840,000 0 840,000
s 700,000
< 140,000
403 MHXISHE X201 E 840,000 0 840,000
ras 700,000
< 140,000
01 X SHHX2E = 840,000 0 840,000
OxE X0t ZdAY 840,000
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= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OF= & FAAAWS 16,200
SE=EE dHEEs =X 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OF=S 232 & A Y MERIFA 30,000
=02 830nsy 2SI 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 LAFAAFEX 5,000 5,000 0
OZ20=2st& e20ua N & 2 XA 5,000
OS2 OI0FJIE0L &sHl XI& 442,580 315,524 127,056
= 309,806
< 132,774
307 gl2tol & 442,580 315,524 127,056
= 309,806
< 132,774
02 It M AHE X 442,580 315,524 127,056
OOtSCH2 OIoIE0L &sHl X& 442,580
= 309,806
< 132,774
=3It U= d 2AZTME 190,000 150,000 40,000
= 120,000
< 70,000
308 XXM SO0l A 190,000 150,000 40,000
= 120,000
< 70,000
01 IXNHHMBNEES 50,000 150,000 A 100,000
OMA fgd’ 3 (&), 50,000
= 50,000
11 3/2SoHUHSBH4EAEALS I 140,000 0 140,000
OFsll s+l 52 432 M=LS0l 140,000
= 70,000
< 70,000
0L ALY 20,000 0 20,000
308 XX EHHSOIA 20,000 0 20,000
113/ 2SoHUHSZAEEALS I 20,000 0 20,000
OFE=X 2XMCtel At 20,000
eE2ssH g4ds XA 20,000 20,000 0
308 XXM SOIA 20,000 20,000 0
01 IXNHHBANEES 20,000 20,000 0
OL2sstH g4dst 20,000
ZEUE S0l ISEX XA 10,000 0 10,000
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A= 2o Ms2E= PN 230l A
M 2oz 2L
el BN 24835 (SH9: &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
S22 29 N 1,342,691 1,355,769 A 13,078
306 22 1,342,691 1,355,769 A 13,078
01 &= 1,342,691 1,355,769 A 13,078
O==Zst et 248 XA 1,342,691
E3 gZe 25 2 ZEH=x 4 17,279,782 21,418,982 A 4,139,200
= 944,658
s 7,485,000
=) 8,850,124
SHAHCIAR Had 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 DI2HHALALSE E X 30,000 30,000 0
OHM183 SUASCIAC Had 30,000
g2 2 0=z 2435 75,000 75,000 0
308 XXM SOl A 75,000 75,000 0
01 AXHHBILEES 75,000 75,000 0
oglszat & D=2 83 X2 AY 75,000
HEIHMSAE3H X 500,000 500,000 0
308 XXIEHH SOl A 500,000 500,000 0
01 X HHILEES 500,000 500,000 0
OHM178l M&E=HMSLsH 500,000
Eector g3t MEX& 76,200 126,200 A50,000
307 gl2tol & 26,200 26,200 0
02 IZtE M AIHE L 26,200 26,200 0
oty st =™ 'O’ 10,000
OZ & st 2 AH X €83l 16,200
308 MXIEHSOIH 50,000 100,000 250,000
01 HXNHHBHEELS 50,000 100,000 50,000
OEectotd st MR 50,000
=5 =220t 2E X 300,000 300,000 0
308 XX EHSOIA 300,000 300,000 0
01 HIXNHHNBMNEES 300,000 300,000 0
Os= 2 =320ty 29X & 300,000
TH=MY SEAHEFIZ 2H(US) 400,000 0 400,000
308 XXM SO0l A 400,000 0 400,000
N 3JN2SHUe3 A A 400,000 0 400,000
OXdzd=ard=sd HEIZ 22 (HS) 400,000
ZE=+EH 29 60,000 25,800 34,200
308 XtXIEHHSOIA 60,000 25,800 34,200




A= 2o Ms2E= = =4t
M 2oz 2L
Sl 235 olmg 1E W BHE 4 (B9 ®R)
2 - 4
A RN T BASH) - MRAY - 0l &t o il Bl RE2
113/ 2SoHUHSZ&EAEALS I 60,000 25,800 34,200
O2H=58H 2g9(U3) 60,000
EAMAZ O A FAILHEY =& 50,000 50,000 0
308 XXM SOIA 50,000 50,000 0
M3 2SOoHetE & X 2 E A I 50,000 50,000 0
Ot EZ0F A FAIHIHE = 50,000
X AolcHA 18,000 18,000 0
308 XX EHH SOl A 18,000 18,000 0
01 AXHHILEES 18,000 18,000 0
OHM18al X AM0CHA 18,000
eAZ= 3l JHxl ¥ &It 30,000 30,000 0
308 A EHHSOIA 30,000 30,000 0
113/ 2SoHUHSEHEAEALS I 30,000 30,000 0
O e2Z=03 30,000
MERSHEH =4 1,325,000 1,125,000 200,000
s 1,325,000
403 HtXISHH S0l & 1,325,000 1,125,000 200,000
s 1,325,000
01 XM A=2E X 1,325,000 1,125,000 200,000
Og=c dEsdH =4 300,000
s 300,000
OAEZstdly &2 X H 450,000
s 450,000
OZ2s EEadH =4 375,000
s 375,000
O=23d MES0C 42 E&3tA g 90,000
s 90,000
Odsd =gg23tdH A8 110,000
s 110,000
Gz 2Pt HE (HMEAY) 200,000 200,000 0
403 MtXISHHE X201 & 200,000 200,000 0
01 AXSHMA=2EE 200,000 200,000 0
OHYR ZHeysa 2Ag 200,000
A Rolss 2 A (MEAY) 1,890,000 0 1,890,000
403 MM E X201 H 1,890,000 0 1,890,000
01 X SHHX2E= 1,890,000 0 1,890,000
Oxd 2tz HE 1,890,000
EF0=dY HEy N2 (HeAg) 1,000,000 0 1,000,000
403 Ut SHHSA=0l& 1,000,000 0 1,000,000
01 HXSHMA2E X 1,000,000 0 1,000,000
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A= 2gHsDR= FA 2et0E A
M 2oz 2L
o9l 23 oEe RE Y BHX K4 CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 461,974
01 IXNHHBNEES 1,385,922 1,385,922 0
OSSN A AE2H 1,385,922
= 923,948
< 461,974
T M2 &8 MblA X 20,710 17,860 2,850
= 20,710
308 XtXIEHHSOIA 20,710 17,860 2,850
= 20,710
01 AXHHILEES 20,710 17,860 2,850
O&EM2 Gh23tMHlA XIT& 20,710
= 20,710
2N 2d XE 210,000 434,000 A 224,000
s 210,000
403 MHXSHHSA=0l& 210,000 434,000 A 224,000
s 210,000
01 HIXHMA=E X 210,000 434,000 A 224,000
OZs &2t 22 24 112,000
s 112,000
O e hY X4 98,000
s 98,000
M2 XA 45,000 45,000 0
308 MtXIEHMSOIH 45,000 45,000 0
01 HIXNHHBHEELS 45,000 45,000 0
A2ENM2 EHF 45,000
OtJIet Mot MAE 23 85,200 85,200 0
308 A EHHSOIA 85,200 85,200 0
01 HXNHHNBMNELS 85,200 85,200 0
OO0tJI2 & Mol=e BAYE 23 85,200
=2 SNUE M 50,000 0 50,000
308 XXM SO0l A 50,000 0 50,000
01 IXNHHBNEES 50,000 0 50,000
OF= SHUA Wz XA 50,000
IOMASUI AblA =uidl X2 1,750 0 1,750
201 et 1,750 0 1,750
02 2324l 1,750 0 1,750
O=Jt&SA MElA EEidHl XI& 1,750
A2 2008 AL W= 4,000 0 4,000
201 Let24d] 4,000 0 4,000
03 A2 4,000 0 4,000
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A= 2o Ms2E= PN 230l A
M 2oos &Y
el 2z SN (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OZ= 0l=Jt M28 A3 XE 50,000
Oozdu=sl XxeEgs N 90,000
Otligdz1228i2 et=& SN2E o4 =4 78,000
NS SE M X 75,000 91,000 A 16,000
308 XXM SO0l A 75,000 91,000 A 16,000
01 IXNHHBNEES 75,000 91,000 A 16,000
ouse=s EIHM N 30,000
Od= 4Ll M X 18,000
OR4E HEISHM X 12,000
OHES 23 15,000
ROt 2stgs N& 439,662 439,662 0
308 AHAIEHHSOIA 439,662 439,662 0
01 HXNHHBHELS 144,000 144,000 0
OO0t 2 42A 144,000
3/ 2S0HetE & X2 E A I 295,662 295,662 0
OO0ttt E3tes NSAY 295,662
208 2satilzs FHUa X 282,000 302,800 220,800
307 21201 A 157,000 163,000 A 6,000
04 QIZFHALAIR B = 157,000 163,000 A 6,000
OXN6sl Hetel=2H=I [ &It 27,000
OHM34sl s=s84d HA3M 15,000
OHM30sl s=2EM M 15,000
OHM30s d22EH &It 30,000
OHM39el E=stREH AW 25,000
OE=&E2&I FAAS HAEE 10,000
OFEYE MIANZHUE IHz 10,000
OHM193 A=3F A3 20,000
02021 et d=UHE S=SUHE dLUH 5,000
308 XX EHH SOl A 125,000 139,800 214,800
01 X HHILEES 125,000 139,800 A 14,800
02021 E=4EFE Fe-story 10,800
OHM28sl HZW ISt AAAUE 12,000
ORMi452 M=2E30 I3 AU 18,000
OHM225| CBSE =& aHd SASI2 10,000
OHMl153 HES2H 9,000
02021 =M EAYE HAENY 43,200
O&=HAHESZHUE 10,000
OHM39sl s=H2=H M= 12,000
st2e=0==A 57,000 57,000 0
J| 10,000




A= A=A = 2N 230l=arE 0t
dH: 20z 2
e 2otz sS4 (cho &)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
= 47,000
308 AXISHMSOIH 57,000 57,000 0
Dl 10,000
T 47,000
01 AIXIHMBAEEXZ 57,000 57,000 0
Ost=0l=0=sH HWEE &It 40,000
Il 5,000
= 35,000
Od=dHAEUXZ0M=HM HWEE &It 17,000
Jl 5,000
T 12,000
SH0=Z3AHUS 43,000 43,000 0
201 Bt A | 5,000 5,000 0
01 At 22l Yl 5,000 5,000 0
Oz £ HAEUK0=H A A 5,000
308 AHXI &AM SO0l A 38,000 38,000 0
01 AIXHMBAEEXZ 38,000 38,000 0
Os=0x0=sH £ ssEL2E0E50=H 38,000
S= WEM=M K& 328,000 318,000 10,000
307 QI2t0| ™ 318,000 318,000 0
04 QI2tSHALAIE E &= 318,000 318,000 0
OHM273 ss050=H 100,000
OHMB33 sS=0=H 218,000
308 AHX| &AM S0l & 10,000 0 10,000
01 AIXHMBAEXZ 10,000 0 10,000
OM33l st2AF Ol=H 10,000
FE 523 X 163,800 168,500 A4,700
307 2I2+0 & 47,000 47,000 0
04 DIZESHAFAIRE 2 X 47,000 47,000 0
OCJIBEAF J1ES23 10,000
Os=s =38«43 10,000
OstHE S BZ2ANE 15,000
Os=s8YH 12,000
308 AHX| S A SO0l & 116,800 121,500 N4,700
01 AIXHMBAEXZ 116,800 121,500 A4,700
Enstg 24 9 30,000
O0I2ZAMEW Lis2 48 Z3H0l=AH 18,000
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A= 2gHsDR= FA 2et0E A
M 2oos &Y
& 230z SN (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t
113/ 2SoHUHSZ&EAEALS I 624,000 624,000 0
O3 &dF0=tH SLEXE 624,000
| 312,000
< 312,000
YO JAZZTONIC HIAEIY 140,000 140,000 0
308 XXIEtH S0l A 140,000 140,000 0
01 IXNHHBANEES 140,000 140,000 0
O&HE U JAZZTONIC HIAEIE 140,000
NE2st=n=I18 25 , 742,000 , 742,200 2200
= 871,000
< 871,000
308 XtXIEHH SOl A , 742,000 , 742,200 A 200
= 871,000
= 871,000
113J/2SoHUHSI S EAE ALS I , 742,000 , 742,200 A 200
OXNYZst=nsl|g 2= , 742,000
= 871,000
< 871,000
SO0I230 s S X & 200,000 200,000 0
= 100,000
< 100,000
308 XXM S0 A 200,000 200,000 0
= 100,000
= 100,000
113 2SoHUHSZAEEALS I 200,000 200,000 0
OROtZatMlzn A 200,000
= 100,000
< 100,000
Zo0z=wSsA CTEY 215,000 240,000 A 25,000
= 107,500
< 107,500
308 XXIEHHSOIA 215,000 240,000 A 25,000
= 107,500
< 107,500
M 3IN2SUHUE3 LS A 215,000 240,000 225,000
O2U=wsSA CTEA 215,000
= 107,500
S 107,500
2AE =8 A XA 50,000 50,000 0
307 2201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OAE 23tUl=& A XA 50,000
=StnEs 228 X2 50,000 50,000 0
= 50,000




AR 2HHSDYR SN RSsAYD
M 2oz 2L
el 2z SN (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 50,000 50,000 0
= 50,000
01 HIXNHHBHEELS 50,000 50,000 0
OzstltEx 29 K& 50,000
= 50,000
StR& BSEBE 30,164,678 29,629,709 534,969
2 16,312,404
J| 1,543,926
=) 12,308,348
R BEEW X E= 30,164,678 29,629,709 534,969
= 16,312,404
J| 1,543,926
< 12,308,348
SNHNEESM 2+ FHl 8,300,162 12,215,050 A 3,914,888
= 6,665,280
=) 1,634,882
403 UtXISHH S =0l & 8,300,162 12,215,050 A 3,914,888
= 6,665,280
=) 1,634,882
01 AXISHHA=2E = 8,300,162 12,215,050 A 3,914,888
O=2ItX&E 3t E+FHl 8,300,162
=2 6,665,280
< 1,634,882
FVNE dHIIEE g B+ 217,405 208,250 9,155
= 179,040
= 38,365
403 XIS E X201 & 217,405 208,250 9,155
= 179,040
< 38,365
01 XXM 22 = 217,405 208,250 9,155
O=JIX&E dHIlgeE g 217,405
= 179,040
< 38,365
=2IJHAE 3t =101l D| 116,130 165,970 A 49,840
= 116,130
403 X SHHSA=0l& 116,130 165,970 A 49,840
= 116,130
01 X SHHMA=E L 116,130 165,970 A 49,840
O=JtXE 23t =2t01d D] 116,130
= 116,130
S HHEXAE 2= 378,727 259,500 119,227
J| 279,818
< 98,909
403 MtXISHHE =0l & 378,727 259,500 119,227
J| 279,818




AR BoHsHE=2 2A 230 = A Dt
M. 2SRM NSEE
el 2ERM BED O S CERED
L=
AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
= 98,909
01 XIS A=Z2E X 378,727 259,500 119,227
O=2JIXE 23t &Ml &X 378,727
Jl 279,818
o= 98,909
ZIKNE2SM SHAIE S22 X 191,244 195,500 N4 256
J| 157,495
= 33,749
308 MXISHMSOIA 191,244 195,500 N4 256
J| 157,495
& 33,749
01 IXHHINMNEEXTZ 191,244 195,500 N4, 256
OZ2INE2SM SMHAIE X2 XA 191,244
J| 157,495
& 33,749
=St et FHI A HIX ¥ E= 267,366 259,500 7,866
J| 195,190
& 72,176
308 AHXIEHSOIA 267,366 259,500 7,866
J| 195,190
= 72,176
01 AIXSHMENMNEX= 267,366 259,500 7,866
O23tM etdAHI S WXl & &=2 267,366
J| 195,190
=} 72,176
B2 HIFA 2222 HE 3,350,000 0 3,350,000
2 2,075,000
& 1,275,000
403 XX SHHS K 20| & 3,350,000 0 3,350,000
= 2,075,000
& 1,275,000
01 XIS A =2E X 3,350,000 0 3,350,000
OE2 HF:A 8832 HY 3,350,000
=2 2,075,000
= 1,275,000
HEAE B4 AH| 1,500,000 1,515,000 A 15,000
= 1,000,000
o= 500,000
403 XX S M S K201 & 1,500,000 1,515,000 A 15,000
=2 1,000,000
=} 500,000
01 AIXISHHMA2E X 1,500,000 1,515,000 A 15,000
OFEAZE E=FH| 1,500,000
= 1,000,000
& 500,000




AR 2SR SN SN
Hu: 2R84 HS2E
& 2R BEEY JIX F= (&)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
HSAE ETHAAE 2= 529,500 836,250 A 306,750
= 353,000
< 176,500
403 UHXISHHSA=0l& 529,500 836,250 A 306,750
= 353,000
< 176,500
01 HXESHMA=LE L 529,500 836,250 A 306,750
OESAHE ETHAIAY 2= 529,500
= 353,000
< 176,500
HSAE ZTHALAE SXES 368,100 313,251 54,849
= 245,400
< 122,700
403 MtXISHH S0l & 368,100 313,251 54,849
= 245,400
< 122,700
01 AXSHMA=2E X 368,100 313,251 54,849
OESAHE ETHAIAE RAE+ 368,100
= 245,400
< 122,700
STHEX I8 2=+=FHl 3,500,000 4,653,000 A 1,153,000
403 A X EHHS =0l A 3,500,000 4,653,000 A 1,153,000
01 XXM A2E = 3,500,000 4,653,000 A 1,153,000
OEXNE 23t E==FH| 3,500,000
EXNE =SXEM &5 - 2 75,625 75,050 575
403 Ut SHHSA=0l& 75,625 75,050 575
01 X ESHHMA=LE L 75,625 75,050 575
OZXNE S22t &= - dEAY 75,625
EXE 23 2=2+Hl 250,000 250,000 0
403 MtXISHH S =0l & 250,000 250,000 0
01 XM A2E X 250,000 250,000 0
OEXNEIZ3M 2A=2 =+l 250,000
SEXNE23M =001 Z 0| 122,760 122,760 0
403 MtXISHE X201 E 122,760 122,760 0
01 X S22 = 122,760 122,760 0
O&EXNHE 23N =J101galD| 122,760
SEXNE=2a SHEH A 188,025 232,405 A 44,380
308 XtXIEHHSOIA 99,525 95,405 4,120
01 X HHBLEES 99,525 95,405 4,120
OEXZE 23 2t sX2el 99,525
403 MHtXSHHS =0l & 88,500 137,000 A 48,500




FoHs22= fM  2st0l= A
Zotss MSEE
2R BEE IIX HE (=& J)
R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
01 XXM A2E = 88,500 137,000 A 48,500
OEXNH23M LU ALY 88,500
g |sX2el 124,500 124,500 0
403 XAtXISH M S K201 A 124,500 124,500 0
01 AXSHMA2E = 124,500 124,500 0
Ogn |A2cltl 124,500
S L I AL X& 4,900 6,510 21,610
| 4,900
308 XX EHHSOIA 4,900 6,510 A 1,610
| 4,900
01 AXSGHBELS 4,900 6,510 21,610
OXAR A DI AL 4,900
| 4,900
NERERA ES 100,000 0 100,000
= 100,000
403 XXM S X201 100,000 0 100,000
= 100,000
01 XXM U422 = 100,000 0 100,000
OXNgRERA B35 100,000
= 100,000
PEISIMN druns2 Hgy AA 120,000 120,000 0
= 80,000
= 40,000
403 XAXISH M S K201 A 120,000 120,000 0
= 80,000
= 40,000
01 AXSHMA2E = 120,000 120,000 0
ORE=2stM dcnus2t A8 X 120,000
= 80,000
== 40,000
du=s2 2435 X3 18,850 24,650 25,800
= 13,000
= 5,850
308 XXM SOoIA 18,850 24,650 25,800
= 13,000
< 5,850
01 AXSGHBELS 18,850 24,650 A 5,800
PYESM drus2 BHS ALY 18,850
= 13,000
= 5,850
SEESM SHEAXA 45,200 45,200 0
308 XXM S0 A 45,200 45,200 0
01 AXSHHBLAEES 45,200 45,200 0




A= 2o Ms2E= PN 230l A
Hu: 2R HSRE
Sl 2ERMO BED X FEB CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OSEEZaM SHEA XA 30,200
OMBgal E=SLE 23 &0ty S A 15,000
FEEM dsAE 219,800 215,400 4,400
308 MtXIEHMSOIH 219,800 215,400 4,400
01 HIXNHHBHEELS 219,800 215,400 4,400
ORE=3aM dsXE 219,800
2 MSSAHY 1,609,046 1,476,148 132,898
J| 804,523
=) 804,523
307 glz2tol & 1,609,046 1,476,148 132,898
J| 804,523
& 804,523
02 LIt MAMHEE 1,609,046 1,476,148 132,898
OZsM ssAL 1,609,046
J| 804,523
< 804,523
MMZETH ALY 526,150 453,250 72,900
= 334,000
< 192,150
308 XtXIEHH SOl A 526,150 453,250 72,900
= 334,000
< 192,150
01 XML EES 526,150 453,250 72,900
OMM=23HTH At 526,150
= 334,000
= 192,150
SUANE 23 22 A 433,900 609,000 A 175,100
= 286,000
< 147,900
308 MtXIEHMSOIH 433,900 609,000 A 175,100
= 286,000
< 147,900
01 HXNHHBHELS 433,900 609,000 A 175,100
OZNNH 23 2SAY 433,900
= 286,000
< 147,900
=t OrH=Z=2 e At 531,800 369,250 162,550
= 344,000
< 187,800
308 XX EHSOIA 531,800 369,250 162,550
= 344,000
< 187,800
01 IXNHHBNEES 531,800 369, 250 162,550
O=2M Ort=Z2 7 At 531,800




AR BoHsHE=2 2A 23t = At Dt
Hu: 2R HSRE
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 344,000
& 187,800
MESLAES SE2AL 76,250 166, 250 A 90,000
= 50,000
= 26,250
308 XAHXIEHSOIA 76,250 166, 250 A 90,000
= 50,000
= 26,250
01 AIXSHMEMNEX= 76,250 166, 250 A 90,000
OFSALAISSM E2AE 76,250
= 50,000
=} 26,250
DNEEJHE 2 AMY 188,800 274,500 A 85,700
= 118,000
& 70,800
308 XHXIGH SO0l & 188,800 274,500 A 85,700
= 118,000
& 70,800
01 IXHHNIMNEXS 188,800 274,500 A 85,700
OLNEEE &2 AMY 188,800
2 118,000
o= 70,800
NAS A S A 70,000 0 70,000
= 50,000
o= 20,000
308 AMXISHMSOIA 70,000 0 70,000
2 50,000
o= 20,000
01 AIXSHMENEXZ 70,000 0 70,000
ONAHR A SSAIY 70,000
2 50,000
= 20,000
NEE2S KA DFAY 155,800 135,500 20,300
J| 102,000
& 53,800
307 2iz2to| A 52,000 56,000 A 4,000
J| 26,000
& 26,000
02 QIZIA AAIE E X 52,000 56,000 A 4,000
OXNE2e 7L DAY 52,000
J| 26,000
o= 26,000
308 MXISHHMSOIA 103,800 79,500 24,300
J| 76,000
= 27,800
01 IXHHIMNEXS 103,800 79,500 24,300




A= 2o Ms2E= PN 230l A
Y 2R HSEE
& 2R BEEY JIX F= (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OXNYGEZstRL DAY 103,800
J| 76,000
< 27,800
R4 2EAY 90,200 183,000 292,800
307 21201 A 25,200 118,000 A 92,800
02 HAFAANFEX 25,200 118,000 292,800
Os= 23 Jlse H3H 25,200
308 MXIEHSOIH 65,000 65,000 0
01 HXNHHNBHELS 65,000 65,000 0
OFstz it 2EAY 65,000
ESESERSAT L S=UH3HA 10,000 10,000 0
308 AHXIEHHSOIA 10,000 10,000 0
01 HIXNHHNBMNEELES 10,000 10,000 0
OS=sE2sd 7 st=Uial Nzl 10,000
AN OtSA 232 16,000 16,000 0
308 XXM SOl A 16,000 16,000 0
01 IXNHHBNEES 16,000 16,000 0
OX<S0tE AL &7 16,000
S& JIAAL S 2SHE 2 ZH(MEAY) 595,000 425,000 170,000
403 XIS E X201 & 595,000 425,000 170,000
01 X SHHAN2E = 595,000 425,000 170,000
O=2& JHetAL S22t =4 595,000
NAHS A BE2te] AHY 425,000 1,309,000 A 884,000
= 350,000
< 75,000
308 AHAIEHHSOIA 425,000 1,309,000 884,000
= 350,000
< 75,000
01 HXNHHBHELS 425,000 1,309,000 A 884,000
OHMAR & E&2e| At 425,000
= 350,000
< 75,000
S et B FHIAY 147,950 113,265 34,685
= 100,900
< 47,050
403 UtXISHH S A= 0l& 147,950 113,265 34,685
= 100,900
= 47,050
01 AXISHHA=2E = 147,950 113,265 34,685
O=stM CHLHE HUHIALY 147,950
= 100,900




Sz =2 2A 23t = At Dt
SaRs HaEE
SoKAS =1 JIX &S (2 &HH)
- _ _ RE]
SEA BB (EH) - AEAY - BAS Ofl At o4 %Eﬁ HR=2
| = 47,050
23 20 22tx4d 108,800 0 108,800
= 89,600
== 19,200
403 XX SHHS K20 & 108,800 0 108,800
= 89,600
= 19,200
01 AIXISHHM A2 X 108,800 0 108,800
OSSN RN 324 108,800
= 89,600
& 19,200
SO ORIYBEY &R 187,500 0 187,500
= 125,000
& 62,500
403 XX SHHS K20 & 187,500 0 187,500
= 125,000
= 62,500
01 XIS A=Z2E X 187,500 0 187,500
O23tM of2rd 22Xy Al 187,500
= 125,000
& 62,500
MHASA EE2E X 2FALY 910,000 0 910,000
= 700,000
o= 210,000
403 XX SHHMS K201 A 910,000 0 910,000
= 700,000
=} 210,000
01 XS RS2 X 910,000 0 910,000
ONARA EES2H = 2SAIY 910,000
= 700,000
= 210,000
NASA E2BXE ALY 523,900 568,900 A 45,000
= 403,000
= 120,900
308 XHXIEHSOIA 523,900 568,900 A 45,000
= 403,000
= 120,900
01 AIXSHMEMNEX= 523,900 568,900 A 45,000
ONASA EEXA ALY 523,900
= 403,000
=} 120,900
MHAIIER A 88 L E2 572,000 195,000 377,000
= 440,000
= 132,000
308 XAXISHHM SO0l & 572,000 195,000 377,000
= 440,000




AR BoHsHE=2 2A 23t = At Dt
M 2R WSEE
Ee: 23K 4Ao E=1 JiX| &= (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 132,000
01 AIKISHHENEXZ 572,000 195,000 377,000
OMNAHIIERAN 28 & B8 XS 572,000
= 440,000
o= 132,000
g2 S3t0=nSF A Hi X 19,140 17,400 1,740
= 13,200
= 5,940
308 MXISHMSOIA 19,140 17,400 1,740
= 13,200
& 5,940
01 IXHHINMNEEXTZ 19,140 17,400 1,740
OFx=NEX 230 WE A HI X 19,140
= 13,200
& 5,940
EHESCX(EE) BH& 34,294 500,000 AN465,706
101 Q124 H| 34,294 0 34,294
04 JI2ZtHIZ22NEES 34,294 0 34,294
OEXHEHE 2B X 34,294
=23 MR 2N 810,000 0 810,000
306 52 810,000 0 810,000
01 &2 810,000 0 810,000
O==23 AR 23 MEANY X 810,000
S SLE2FE AR 22l ] 53,000 53,000 0
201 et Y| 53,000 53,000 0
01 AP 2t 2] H| 53,000 53,000 0
OgBrH AL ZH| 13,000
O2sMAS s EFA&LH 36,000
OS2 MAJE SEXNEZA =& 4,000
7.28.~8.11. 52 SPAL (2 2) 1,549,133 0 1,549,133
= 1,549,133
403 XX S M S K201 A 1,549,133 0 1,549,133
= 1,549,133
01 XIS A2E X 1,549,133 0 1,549,133
O7.28.~8.11. S Ml EFRAIL (23 HE ) 1,549,133
= 1,549,133
7.28.~8.11. SMoll ERAMA (2 MHESL, 2D FI}) 532,721 0 532,721
= 532,721
403 XX SHHS K20 & 532,721 0 532,721
= 532,721
01 XIS A2E X 532,721 0 532,721
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AR 2SR SAHsHES
Hu: Asmol HIHE
SR T (29l & 2)
224 ZB SN - HRAY - BES 0l &t o il Bl RE2
ozsdlle =4 JI=223 7¢ 4,000
ANz 2330187 X& 500,000 500,000 0
308 XXM SOl A 500,000 500,000 0
01 IXNHHBNEES 500,000 500,000 0
OAlzZ 28818 N& 500,000
M AZx WX 46,000 26,000 20,000
202 odl 6,000 6,000 0
03 22 R0 6,000 6,000 0
O=2g20l 6,000
301 LEMZ 40,000 20,000 20,000
06 BI2+RI =2 2| 04 HI 40,000 20,000 20,000
O=3MNAEZ=WEKA 40,000
T M=s X 9,364,228 9,135,464 228,764
307 glz2+ol & 9,364,228 9,135,464 228,764
02 It HAHEE 7,419,519 7,232,140 187,379
OFEZH=TEAY 7,370,919
ONsJI=E2H 48,600
03 SIAHNHE2IHIEE 1,944,709 1,903, 324 41,385
Os=d<=ss MR2H29Y 1,944,709
HAESHH HEXH 302,400 302,400 0
307 21201 A 302,400 302,400 0
02 QB AANHEX 302,400 302,400 0
Od&s=HH dFXNA 302,400
SOAAE JNE XA 250,000 250,000 0
308 XX EHHSOIA 250,000 250,000 0
01 HXNHHBHEELS 250,000 250,000 0
OLgNad 2gdl XA 250,000
d2M=sla KA 338,000 384,000 A 46,000
307 glz2tol & 135,000 80,000 55,000
04 DI2HHALALSE E X 135,000 80,000 55,000
OHM31a DlAHEZS U3 10,000
OAzZUed dOtetEH = 70,000
OZs=s & 55 - L& Ot E Ha 55,000
308 XXM SO0l A 203,000 304,000 A 101,000
01 IXNHHBNEES 203,000 304,000 A 101,000
OSXIAHEY SHAAZX 20,000
OFSI E=2REUHs 120,000
OHM33l TXAH &3& 83 EQI3E 3l 25,000




AR 2SR SAHsHES
HH: =m0l HIAE
SR T (er:@e)
- _ _ RE]
SoSA-EESY(EH) - NEAY - B Ol At o %Eﬁ HR=2
OFSHET XA d=22U=A0H3 8,000
ON743 M=Z2EHHSEEREAUS 30,000
MAATLX MG X 50,000 50,000 0
307 212t0| & 50,000 50,000 0
02 QIZHE AAIE 2 X 50,000 50,000 0
Odtt AT SHMH3 XS 50,000
MEHSEE 5,604,088 4,539,042 1,065,046
J| 3,861,918
== 1,742,170
M=z K3 2,000 2,000 0
202 o4 | 2,000 2,000 0
01 2Ll 2,000 2,000 0
OME=E =204 2,000
MEHS XIS X HIEX(Al2) 1,138,176 1,128, 144 10,032
J| 1,110,816
= 27,360
308 XHXIGH SO0l & 1,138,176 1,128,144 10,032
J| 1,110,816
= 27,360
01 AXHHIMNEXS 1,138,176 1,128,144 10,032
Ot & X =X+ B X 1,138,176
Dl 1,110,816
= 27,360
HEN H=sgs K& 44,940 44,940 0
J| 22,470
o= 22,470
307 212t0| ™ 44 940 44,940 0
J| 22,470
& 22,470
04 SIZ2HSHAAISHE E X 44,940 44,940 0
Os=0sdMEN=sUHS 44,940
J| 22,470
= 22,470
24 HsSEs X (AD) 1,003,392 994,548 8,844
J| 979,272
& 24,120
308 XHXIEHSOIA 1,003,392 994,548 8,844
J| 979,272
= 24,120
01 AIKSHMEMNEX= 1,003,392 994,548 8,844
oza MEH=sXZA BHX 1,003,392
J| 979,272
== 24,120
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Off &t 24
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922,080

759,360

Jl

H

162,720
922,080
922,080
162,720
20,000
20,000
20,000
20,000

759,360

Il

314,500

314,500
314,500
186,000

50,000

18,000
60,500
618,950
618,950
214,450

673,950

50,000
30,000
90,000
88,000
25,000

13,500

9,000
10,000
20,000

|

=

=

olsd X

ol

=

=)

308 AtXIEHH

=
[l

2|

e

tolea X

307 21201 A

on
=
o
il
o

=
el

2|

=

2 It X2

tHal Nzl

=
=

=N

AH S}

(=]

Os=¢E

307 glztol &

<
E

i

)

O

=

=
el
%0

t

J

=]

SHMLUFX
=

= Ml

HM=CHal izl &
307 21201 &

=

AH S}

o}

Hr
R

oF
3
il
20
nr
2]
O

3

| = CH

E X

=
=

H

Al
(=]

=29
==

=)

OZ XA

o}

K
K0
RT
0fr
3
il
%0
o

#0

-E2EE

OF*CH 2l

23|

=
=

ST M

]

PSS
>

Oos

K0
o
fr
K]
aK

&

20

(=]

10,000

55,000
55,000
12,000

9,000
60,000
55,000
55,000
40,000
15,000
22,000

2|

=

ESDNE

S
| OH
e

9

3

dl = CH

x

o
-

b

Tt

Ol &

(=}
[und

2|

=
e

2.
=
5l

Od= =20l T
=

308 AtXIEHH
OM#A

OtetE O




el
3}
H

i
x
é
H
A
0lon
3]

A= 2oMs2 £ &
Hu: Asmol HIHE
Sl MEHSHE (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 22,000 12,000 10,000
01 HIXNHHBHNEELES 22,000 12,000 10,000
OZ=Att0tetEH 3 12,000
Ozx4 d=4et0ietEt e 10,000
A= M4ATAEH HE 45,000 45,000 0
308 XX EHH SOl A 45,000 45,000 0
01 X HHILEXS 45,000 45,000 0
SEANEIMATIEH HE 27,000
OUMDE=RH LRF77NHEH DECUE 18,000
AU XA 47,400 51,000 A 3,600
308 XtXIEHH SOl A 47,400 51,000 A 3,600
01 AXHHBILEES 47,400 51,000 A 3,600
OMHHAT S 32,400
OS2sMs2Z 2 =AU 15,000
MEHSSEE TVEH 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
02 It M AMHEE 12,000 12,000 0
OQUEM=sd TVEA 12,000
== TUSHtny 16,200 18,000 A 1,800
307 21201 A 16,200 18,000 A 1,800
04 QIZFHALAIE B = 16,200 18,000 A 1,800
Os=2zsdns 16,200
=703 X ¢ XA 41,400 46,000 A 4,600
308 XX EHH SOl A 41,400 46,000 A 4,600
01 HXNHHBHEELS 41,400 46,000 A 4,600
OWK(WA=7)2ld | 41,400
A= ROUHAMAE K& 70,000 70,000 0
308 AHXIEHSOIA 70,000 70,000 0
01 HXNHHNBHELS 70,000 70,000 0
OX=RUME 70,000
QEFIIME K& 4,050 4,050 0
307 glz2tol & 4,050 4,050 0
04 QIZFHALAIH E = 4,050 4,050 0
OUXAEIIUS XA 4,050
a4 =23 IFUE 18,000 15,000 3,000
308 XtXIEHHSOIA 18,000 15,000 3,000
01 AXHHILEES 18,000 15,000 3,000




A2 2HHSAER 2N HSEED
HH: =m0l HIAE
Sl MEHSHE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O3M & -=- 249 =23 WRUS 18,000
E=23H HEE 150,000 150,000 0
307 glz2tol & 100,000 100,000 0
04 QIZHHALALH B = 100,000 100,000 0
S=E3H HEE 100,000
308 MtXIEHSOIH 50,000 50,000 0
01 X HHILEXS 50,000 50,000 0
E=EZH HWEE 50,000
ZOIH100 ASHE 2 990,000 0 990,000
J| 990,000
308 XX EHSOIA 990,000 0 990, 000
J| 990,000
01 HIXNHHNBMNEELES 990,000 0 990, 000
OI32MS100 ISHEH 22 990,000
J| 990,000
HEUa X& 49,000 39,000 10,000
307 glz2+ol & 39,000 39,000 0
04 QIZFHALAIH E = 39,000 39,000 0
OZXIAEH BHS O3 9,000
Odtseld ot XA 30,000
308 XX EHH SOl 10,000 0 10,000
01 HIXNHHBNEES 10,000 0 10,000
OHELE HIS=EH 10,000
st=R0EsAE3 N 20,000 0 20,000
307 21201 A 20,000 0 20,000
03 HAHMEE2LHES 20,000 0 20,000
Ogt=20sce= XN 20,000
ZojoIHSE 6,058,969 5,779,596 279,373
J| 697,216
< 5,361,753
s MEAY 4,961,614 4,739,313 222,301
307 21201 A 4,961,614 4,739,313 222,301
02 QB AAFEX 3,863,846 3,702,478 161,368
OFMHANESEEAY 2,192,906
OFMHAAZAMNAE 2 1,491,940
O+ SHXA 179,000
03 BIAHMNHE2IHIEL 1,027,768 966,835 60,933
OFSE=SEZMHAUMES MRH2EHI 1,027,768
04 QIZFHALAIH B = 70,000 70,000 0




AR BoHsHE=2 2A =i s
Hu: Asmol HIHE
cHelr MO HSHE CER-ED
L=
AR .24 - FHH .G (3H) - NSAY - BES Ol At o ﬁlgﬁ HRE2
OZEXNAMUEZ2EMAM=UZ 70,000
ORI MU XS 100,000 100,000 0
J| 19,000
= 81,000
307 212t01 & 100,000 100,000 0
J| 19,000
& 81,000
04 CIZ2tSHALALS B X 100,000 100,000 0
OO0 100,000
J| 19,000
o= 81,000
ZOHCIMEES KNSR X (HS3]) 202,776 144,840 57,936
Il 101,388
o 101,388
307 212t0| & 202,776 144,840 57,936
J| 101,388
o= 101,388
02 DIZHEAAIE E X 202,776 144,840 57,936
OZ ol ME 1 = Xl &= Xkl X 202,776
J| 101,388
& 101,388
ORI M E X S K & KFHH X (Al ) 709,715 709,715 0
J| 506,940
= 202,775
308 XX G SOl A 709,715 709,715 0
J| 506,940
= 202,775
01 AIKSHMEMNEX= 709,715 709,715 0
OXHMME =KX XX & 709,715
J| 506,940
o= 202,775
HOHQUATZAHOIBRAX A (A2) 84,864 79,968 4,89
J| 69,888
= 14,976
308 MXISHMSOIA 84,864 79,968 4,896
J| 69,888
= 14,976
01 HXHHIMNEXTZ 84,864 79,968 4,896
OZHe AZX2ALN 0|2& K& 84,864
J| 69,888
& 14,976
HEAE &5 63,736,009 68,882,217 N5,146,208
= 191,092
g 14,739,200
J| 23,309,000
o= 25,496,717




AR 2HHSDEYR SN HSUSD
HH: =m0l HIAE
S MSAE =25 (cho &)
- _ _ RE]
SoSA-EESY(EH) - NEAY - B Ol At o %Eﬁ HR=2
SEALZLXHME 22 170,217 170,217 0
307 2Iz2t0| A 170,217 170,217 0
02 DIZHEAAIRE E X 170,217 170,217 0
OEEAIXME 22 170,217
Z2Z2HSAEME S 10,000 10,000 0]
201 LBt ]| 10,000 10,000 0
02 2224 H| 10,000 10,000 0
O=E=sHss & t8EH 10,000
20 ESHHAHAE XS 21,620,000 19,400,000 2,220,000
J| 13,600,000
& 8,020,000
403 XX SRS K20 & 21,620,000 19,400,000 2,220,000
J| 13,600,000
& 8,020,000
01 MXHHE2BE =X 21,620,000 19,400,000 2,220,000
O=0x=4dg HE 21,620,000
J| 13,600,000
& 8,020,000
HEEEALE X (ME) 25,600,200 29,697,000 A 4,096,800
g 14,739,200
= 10,861,000
403 XX SHHS X201 A 25,600,200 29,697,000 A 4,096,800
g 14,739,200
o= 10,861,000
01 XIS AS2E X 25,600,200 29,697,000 A 4,096,800
OMESEEAL X (ME) 25,600,200
= 14,739,200
& 10,861,000
MACEX W IS EHs2 HE 6,450,000 9,500,000 A 3,050,000
J| 4,700,000
== 1,750,000
403 XX SHHS K20 & 6,450,000 9,500,000 A 3,050,000
J| 4,700,000
== 1,750,000
01 MXHHAHEBE = 6,450,000 9,500,000 A 3,050,000
OAtA X L JNEENS2 A 6,450,000
J| 4,700,000
o=t 1,750,000
e MESE ARD Jjs2 HEXH 2,728,500 3,209,500 A 481,000
J| 800,000
& 1,928,500
403 XX SRS K 20| & 2,728,500 3,209,500 A 481,000
J| 800,000
== 1,928,500




A=
Hu: Asmol HIHE
S MSAE =25 (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
01 HXSHMA2E X 2,728,500 3,209,500 A 481,000
Oogldas AR s AN 2,728,500
| 800,000
< 1,928,500
SSHSAMENES 4,221,000 3,655,500 565,500
| 2,709,000
< 1,512,000
403 MHXISHE X201 & 4,221,000 3,655,500 565,500
| 2,709,000
< 1,512,000
01 X SHHN2E = 4,221,000 3,655,500 565,500
OZSEHMSEANE HE= X& 4,221,000
| 2,709,000
S 1,512,000
HdSRUEEANE AE 2,625,000 0 2,625,000
J| 1,500,000
= 1,125,000
403 A X EHHSH20IA 2,625,000 0 2,625,000
J| 1,500,000
= 1,125,000
01 X ESHHMA=LE L 2,625,000 0 2,625,000
OXHSRU JSAE HE 2,625,000
| 1,500,000
= 1,125,000
7.28.~8.11. 22 SFAML(MSAIE, 2 2F) 191,092 0 191,092
= 191,092
403 XSS =0l & 191,092 0 191,092
= 191,092
01 X SHMA=2E X 191,092 0 191,092
07.28.~8.11. 32Nt EPMA(MSALE, =21
=95) 191,092
= 191,092
S=2Hs32 2el 120,000 0 120,000
402 RI2FX=201 M 120,000 0 120,000
03 RIZHRIEF AL HI 120,000 0 120,000
OS=ENSsa2 AIEEs & 22 120,000
=M AL XA 4,019,992 1,827,500 2,192,492
SHEAH 2 2RI | 49,000 39,000 10,000
201 LBH2E| 11,000 11,000 0
01 At 2t 2l 11,000 11,000 0
O=MEALR A LBt & +=ZH| 10,000
O=HMEALX & =l 1,000
202 Odl 3,000 3,000 0
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